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1*2% ... % (n-1) *n n 556 gaplxe O

120

fact (5)
/TI 24
5 fact (4)
//;F—<:EJG

4 fact (3)
public static long fact(intn) = N 2

{

3 fact (2)
if (n == 0) return 1; < ﬁmfaﬁﬁ -
else return n * fact(n -1); 7~ X

2 fact (1)
\ ..... 1

ULZJI{O u”?ﬁl/" 1 fact (0) I
/%
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gcd (4032, 1272) = 24. Jte O
4032 = 26 * 32 * 71
1272 = 23 * 31 % 531
gcd = 23 % 31
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p q=20

ged(p,q) = {gcd(q»P%CI) otherwise

gcd (4032, 1272) gcd (1272, 216)

gcd (192, 24)
gcd (24, 0)
24
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p q=20

ged(p,q) = {gcd(q»P%CI) otherwise

public static int gcd(int p, int q)
{

if (g == 0) return p;

else return gcd(g, p % q)
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public class HTree
{
public static void draw(int n, double sz, double x, y)
{
if (n == 0) return;
double x0 = x - sz/2; double x1 = x + sz/2;
double y0 = y - sz/2; double yl =y + sz/2;
StdDraw.line(x0, v , x1, y ), H .
StdDraw.line (x0, y0, x0, yl); J
StdDraw.line(x1, y0, x1, yl1);
draw(n - 1, sz/2, x0, yO0); H b, F .
D &SI
draw(n - 1, sz/2, x0, yl); . e
draw(n - 1, sz/2, x1, y0); G 30 4
draw(n - 1, sz/2, x1, yl);
}
T (xg> %) o (x, )
public static void main(String[] args)
{ : (x,y)
int n = Integer.parselnt(args[0]); sz ¢ 1
draw(n, 0.5, 0.5, 0.5);
} E_ {.‘C”, J"'tl1J ®(x 1 J”n}
} 1090 - (5615) pob sy — Loy § Woosls Hlaialy
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public class TowersOfHanoi

{

public static void moves (int N, int from, int to, int help) {

if (N == 1)
System.out.printf (“%d --> %d\n”, from, to);
else {

moves (N — 1, from, help, to);
System.out.printf (“%d --> %d\n”, from, to);

moves (N — 1, help, to, from);

}

public static void main (String[] args) {
int N = Integer.parselInt(args[0]);
moves (N, 1, 3, 2);
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%$java TowersOfHanoi 3 %$java TowersOfHanoi 4
1 -->3 1 --> 2
1 --> 2 1 -->3
3 --> 2 2 --> 3
1 -->3 1 --> 2
2 —->1 3 -->1
2 --> 3 3 -->2
1 -->3 1 --> 2
1 -->3
2 --> 3
2 --> 1
<) o=l
2 --> 3
1 --> 2
1 --> 3
2 --> 3
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o, 1, 1, 2, 3, 5, 8, 13, 21, 34, ..

(0 n=0
Fn—1D+Fn—-2) n=2

public static long F(int n)
{
if (n == 0) return O;
if (n == 1) return 1;
return F(n - 1) + F(n - 2);
}
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public static long F(int n)
{
if (n == 0) return O;
if (n == 1) return 1;
return F(n - 1) + F(n - 2);
}

el 2l 5L (65K leall b oS cpl s 2 O

15 o I8 4 | F (50)

F(50)
fmfggfguFMQ) o —
>0 (0 (FlblE U Y F (48) F(49) F(48)
ssls o bl b 1 (47) — T~ T
, F(48) F(47) F(47) F(46)
s9b b Flsls b 0 F (46)
’ VRN VRN /7 N\ /N

9 o Il b AF (43) F(47) F(46) F(46) F(45) F(46) F(45) ©F(45) F(44)

/N /N /N /N /N /N /N /N

>9d (0 (FleBls8 U IPOVIPIre F (1)
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public static long F(int n)
{

if (n == 0) return O; F(5)

long[] F = new long[n + 1]; 0 1 2 3 4 5

F[O0] = O;

F[1] = 1/ EEENENEINERER

for (int 1 = 2; i <= n; i++)
F[i] = f£f[1i - 1] + F[i - 2];

return F[n];

}
ol Lo (6340l 0 SusT (2 lgad olael gaulons gl YU SusT o )65 &b Sust O
[ocab L] .oyls
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private static void merge (Comparable[] a, Comparable[] aux, int lo, int mid, int hi)

{

assert isSorted(a, lo, mid) ;
assert isSorted(a, mid+1l, hi);

for (int k = lo; k <= hi; k++)
aux[k] = al[k]

int 1 = 1lo, jJj = mid + 1;

for (int k = lo; k <= hi; k++)

{
if (i > mid) alk]
else if (j > hi) alk]
else if (less(aux[]j], aux[i])) al[k]
else alk]

}

assert isSorted(a, lo, hi);

// precondition: a[lo..mid]
// precondition: a[mid+l..hi] sorted

sorted

L)

aux[j++];
aux|[i++];
aux[j++];
aux|[i++];

// postcondition: a[lo..hi] sorted
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.d..ol.SJ.g 5o @L@uo).e u**-’l*j 6‘)'3 Ls?‘)s;’.wo .63'[90‘ Lgd.Lo.? O

e gl acid 4 SLS O
sl g 0S5 5lwaiiun. O

il oo Je Oyle aSST Ko 0gi oo Liwl 590 cel Jgl> v assert gius O

assert isSorted(a, lo, hi); |

Dges Jld oo b Jld 1zl ley o1, assert Ol jgiws olg o O

java —ea MyProgram; // enable assertions
java —-da MyProgram; // disable assertions (default)
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public class MergeSort

{

private static void merge (Comparable[] a, Comparable[] aux, int lo, int mid, int hi)
{ /* see slide 39 */ }

private static void sort(Comparable[] a, Comparable[] aux, int lo, int hi)

{

if (hi <= lo) return;
int mid = 1o + (hi - 1lo) / 2; mid hi

lo
sort (a, aux, lo, mid);
ST e o HEEEEEEEE.
merge (a, aux, lo, mid, hi);

}

public static void sort(Comparable[] a)

{
Comparable[] aux = new Comparable[a.length];
sort(a, aux, 0, a.length - 1);
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lo hi p 1 2 3 4 5 6 7 8 91011 12 13 14 15
\ / M ERGESORTTEUXA AMTPTLE
merge(a, 0, 0, 1) E M
merge{a, 2, 2, 3) G R
merge{a, 0, 1, 3) E G M R
merge(a, 4, 4, 5) E S
merge{a, 6, 6, 7) 0 R
mergef{a, 4, 5§, 7) E O R S
merge(a, 0, 3, 7) E EGCMOURR S
merge{a, &, &, 9) E T
merge{a, 10, 10, 11) A X
merge{a, &, 9, 11) A E T X
merge{a, 12, 12, 13) M P
merge{a, 14, 14, 15) E L
mergefa, 12, 13, 15) E L M P
merge(a, &, 11, 15) A E E L M P T X
mergefa, 0, 7, 15) A EE EEGCLMMOWPRIRS T X
% java TraceMerge MERGESORTEXAMPLE
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public static long fact(int n)
{

if (n == 0) return 1; -~ b
else return n * fact(n - 1) ;

i [\

I/ N

b | omT(n — 1)
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public class TowersOfHanoi

{

public static void moves (int n, int from, int to, int help)

{

if (n == 1)
System.out.printf (“%d --> %d\n”, from, to); 1
else
{
moves(n — 1, from, help, to); T(n - 1)
System.out.printf (“%d --> %d\n”, from, to); 1
moves(n — 1, help, to, from); T(n — 1)

}
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public class MergeSort

{

private static void merge (Comparable[] a, Comparable[] aux, int lo, int mid, int hi)
{ /* see slide 81 */ }

private static void sort (Comparable[] a, Comparable[] aux, int lo, int hi)

{

if (hi <= lo) return;
int mid = 1lo + (hi - 1lo) / 2;

sort (a, aux, lo, mid); T(n/2)
sort (a, aux, mid+1l, hi); T(n/2)
merge (a, aux, lo, mid, hi); n - 1
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R R R R

0 +1
1 +1
2 +1
3 +1
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T(16) = T(8) + 1 =4+ 1=5
T(2n) = T(n) + 1

= (1gn + 1) +1
T(n) =1gn + 1 (19 )

= (lgn + 1g 2) + 1

= 1g 2n + 1
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T (3)
T (4)
T (5)

T (n)

2T (1)
2T (2)
2T (3)
2T (4)

2n

+ + + +

R R R R

2 +1
6 + 1
14 + 1
30 + 1

15
31
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T(1) = 2! -1 =1
il U
T(n + 1) = 2T(n) + 1

2(20 - 1) + 1
=2n+1 -2 +1
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34

+ + + +
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T(n) = T(n - 1) + 1 T(n - i) = T(0) = n-1i=20
=T(n - 2) + 1+ 1 = T(n — 2) + 2 —> i =n
=T(n - 3) +1 + 2 = T(n - 3) + 3 T(n) = T(n — n) + n
= T(n - 4) + 1 + 3 = T(n — 4) + 4 = T(0) + n
=0+ n
= T(n — 1) + 1i = n
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T(n) = T(n/2) + 1 = T(n/2%) + 1 T(n/2%) = T(1) = n/2* =1
= T(n/22) + 1 + 1 = T(n/22) + 2 = i=1gn
=T(n/23) + 1+ 1+ 1 = T(n/23) + 3
=T(n/2%) +1 +1+1+1="T(n/2% + 4

T(n) = T(1) + 1g n
= T(n/2%) + i = 1 +1lgn
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T(n - i) = T(1l) = n - 1

= i=n-1

2T(n - 1) + 1 = 21T(n - 1) + 2! -
= 21[2T(n - 2) + 1] + 1 = 22T(n - 2) + 22 -
= 22[2T(n - 3) + 1] + 3 = 23T(n - 3) + 23 -
23[2T(n - 4) + 1] + 7 = 2T (n - 4) + 24 -

T (n)

A

T(n) =22 -1 T(1) + 22-1 - 1
2 . 2n-1 _ 1
on - 1

= 2iT(n - i) + 2i - 1
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T (n)

2T (n/2) + n

21[2T (n/2%) + n/2'] + n
22[2T (n/23) + n/2%] + 2n
23[2T (n/2%) + n/23] + 3n

= 2T (n/2!) + 1'n
= 22T (n/22) + 2'n
= 23T (n/23) + 3°n
= 2T (n/2%) + 4-n

= 2iT(n/2%) + i-'n

T(n/2') = T(1l) = n/2* =1
= i = 1g n

T(n) = 292 T(1) + n 1g n
=n -0+ nlgn
= n 1lg n
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Tw-ar()rem  @>o0s>n =

T(n) = 4T(n/2) + 0(n)) = T(n) € O(n?) (@a=4b=2c=1) = logya>c
T(n) = 4T(n/2) + O(n?) g T(n) € 0(n?1gn) (a=4,b=2,c=2)=log,a=c
T(n) = 4T(n/2) + O(n3) (=3; T(n) € 0(n3) (a=4,b=2c=3)=>log,a<c
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